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3. foed 1q=100kg

4. WifFs <= 1t=1000 kg

5. WAIRE® FHH THIE lamu=Tu=1.66x 10 kg
(c) wa & fog

1f.=60s
1 9. =60x60s

12747

1fe=24h=24x60%x60s

199 =365.25 days =3.156 x 10" s

19Hm=10°%s



(d) 3= el @ fe

1.
2,

5

6
7.
8

9
10.
11.

12,

T EFwd @ )
ex (e @ fag)

et (amran & o)
IR (G193 60)

ot H TS EN
ol T ]

IR @R B forg)

R (@R & forg

TR dtee (@il @ )
arf (priEe B forg)
fredie gvet

sva ufd (wfew @ forg)
SI<X (dioptre)

o4 9 ofF @ g
& @ B fom)

I barn = 10 2% m’

1£=10cc=10"m’
ﬂﬁcc,ﬂﬁﬁﬁ’iﬁ"ﬂﬁ
Sﬁﬁ?{ em’ @1 weffa R §

USAH 1 e =3.7854 ¢
19=1Nm~
1 atm=1.01 x 10° Pa

1 bar = 1 atm. = 1.01 x 10° @
ltorr= 1 % fi.OR1 &9 = 133.3 W0
1eV=16x 10" 5@

18R =107

11 @ 2.=3.6x10°@

lhp = 746 9

ID=1m"

b8

1°= —
180



	dollar001
	dollar002
	dollar003

